



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(5 + \frac{1}{5}\right)^2 - \frac{3}{4} \times 3^2 + \frac{3}{4} =$$

$$\left(\left(\frac{1}{6}\right)^2 - \frac{1}{4}\right) \times \frac{3}{4} + \left(\frac{3}{5} - \frac{1}{6}\right)^2 =$$

$$\left(\left(\frac{1}{6}\right)^2 - \frac{1}{2}\right) \times \frac{1}{5} + \left(\frac{1}{3} + \frac{1}{3}\right)^2 =$$

$$\left(\frac{1}{6} + \frac{3}{5}\right)^2 + \frac{1}{4}\left(\frac{1}{4} - \left(\frac{2}{5}\right)^2\right) =$$

$$\left(\frac{1}{6} - \frac{1}{2}\right)^2 - \frac{2}{3}\left(\frac{1}{6} - \frac{1}{2}\right) =$$

$$\left(3 + \frac{1}{2}\right)^2 + \frac{1}{2} \times 3^2 + \frac{2}{5} =$$

$$\left(4 - \frac{2}{3}\right)^2 + \frac{1}{4} + 4^2 + \frac{1}{6} =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{3}\right) \times \frac{2}{3} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 =$$

$$\left(5 - \frac{1}{2}\right)^2 + \frac{3}{2} + 3^2 + \frac{1}{4} =$$

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{2}{3} - \left(\frac{1}{2} + \frac{1}{2}\right)^2 =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(5 + \frac{1}{5}\right)^2 - \frac{3}{4} \times 3^2 + \frac{3}{4} = \frac{526}{25} = 21\frac{1}{25}$$

$$\left(\left(\frac{1}{6}\right)^2 - \frac{1}{4}\right) \times \frac{3}{4} + \left(\frac{3}{5} - \frac{1}{6}\right)^2 = \frac{19}{900}$$

$$\left(\left(\frac{1}{6}\right)^2 - \frac{1}{2}\right) \times \frac{1}{5} + \left(\frac{1}{3} + \frac{1}{3}\right)^2 = \frac{7}{20}$$

$$\left(\frac{1}{6} + \frac{3}{5}\right)^2 + \frac{1}{4}\left(\frac{1}{4} - \left(\frac{2}{5}\right)^2\right) = \frac{2197}{3600}$$

$$\left(\frac{1}{6} - \frac{1}{2}\right)^2 - \frac{2}{3}\left(\frac{1}{6} - \frac{1}{2}\right) = \frac{1}{3}$$

$$\left(3 + \frac{1}{2}\right)^2 + \frac{1}{2} \times 3^2 + \frac{2}{5} = \frac{343}{20} = 17\frac{3}{20}$$

$$\left(4 - \frac{2}{3}\right)^2 + \frac{1}{4} + 4^2 + \frac{1}{6} = \frac{991}{36} = 27\frac{19}{36}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{3}\right) \times \frac{2}{3} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 = \frac{17}{18}$$

$$\left(5 - \frac{1}{2}\right)^2 + \frac{3}{2} + 3^2 + \frac{1}{4} = 31$$

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{2}{3} - \left(\frac{1}{2} + \frac{1}{2}\right)^2 = \left(-\frac{17}{18}\right)$$